# The $\lambda$-Aluthge Transform and its Applications to Some Classes of Operators 

Sohir Zid ${ }^{\text {a }}$, Safa Menkad ${ }^{\text {a }}$<br>${ }^{a}$ Laboratory of Mathematical Techniques (LTM), Department of Mathematics, Faculty of Mathematics and Informatics, University of Batna 2, 05078, Batna, Algeria


#### Abstract

Let $T \in \mathcal{B}(\mathcal{H})$ be a bounded linear operator on a Hilbert space $\mathcal{H}$, and let $T=U|T|$ be its polar decomposition. Then, for every $\lambda \in[0,1]$ the $\lambda$-Aluthge transform of $T$ is defined by $\Delta_{\lambda}(T)=|T|^{\lambda} U|T|^{1-\lambda}$. In this paper, we characterize the invertible, binormal, and EP operators and its intersection with a special class of introduced operators via the $\lambda$-Aluthge transform.


## 1. Introduction and preliminaries

let $\mathcal{H}$ be a complex Hilbert space and let $\mathcal{B}(\mathcal{H})$ be the algebra of all bounded linear operators on $\mathcal{H}$. For an arbitrary operator $T \in \mathcal{B}(\mathcal{H})$, we denote by $\mathcal{R}(T), \mathcal{N}(T)$ and $T^{*}$ for the range, the null subspace and the adjoint operator of $T$, respectively. For any closed subspace $M$ of $\mathcal{H}$, let $P_{M}$ denote the orthogonal projection onto $M$.
Recall that for $T \in \mathcal{B}(\mathcal{H})$, there is a unique factorization $T=U|T|$, where $\mathcal{N}(U)=\mathcal{N}(T)=\mathcal{N}(|T|), U$ is a partial isometry, i.e. $U U^{*} U=U$ and $|T|=\left(T^{*} T\right)^{\frac{1}{2}}$ is the modulus of $T$. This factorization is called the polar decomposition of $T$. It is known that if $T$ is invertible then $U$ is unitary and $|T|$ is also invertible. From the polar decomposition, the Aluthge transform of $T$ is defined by

$$
\Delta(T)=|T|^{\frac{1}{2}} U|T|^{\frac{1}{2}}, \quad T \in \mathcal{B}(\mathcal{H})
$$

This transform was introduced in [1] by Aluthge, in order to study p-hyponormal and log-hyponormal operators. In [16], Okubo introduced a more general notion called $\lambda$-Aluthge transform which has later been studied also in detail. This is defined for any $\lambda \in[0,1]$ by

$$
\Delta_{\lambda}(T)=|T|^{\lambda} U|T|^{1-\lambda}, \quad T \in \mathcal{B}(\mathcal{H})
$$

Clearly, for $\lambda=\frac{1}{2}$ we obtain the usual Aluthge transform. Also, $\Delta_{1}(T)=|T| U$ is known as Duggal's transform.
These transforms have been studied in many different contexts and considered by a number of authors (see for instance, $[1,9,11,13,16,17])$. One of the interests of the Aluthge transform lies in the fact that it respects many properties of the original operator. For example $T$ has a nontrivial invariant subspace if an only if

[^0]$\Delta(T)$ does ( see [11]). Another important property is that $T$ and $\Delta_{\lambda}(T)$ have the same spectrum ( see [11]). So $T$ is invertible if and only if $\Delta_{\lambda}(T)$ is invertible, and in this case they are similar. It would be certainly interesting to know which invertible operators in $\mathcal{B}(\mathcal{H})$ satisfy $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$. Recently, the answer to this problem in the case of matrices was given in [17]. In this paper we obtain new results related to this problem for bounded linear operators.

Recall that an operator $T \in \mathcal{B}(\mathcal{H})$ is said to be normal if $T T^{*}=T^{*} T$, quasinormal if $T$ commutes with $T^{*} T$ or equivalently $U|T|=|T| U$, where $T=U|T|$ is the polar decomposition of $T$. The operator $T$ is called binormal if $T T^{*}$ and $T^{*} T$ commute. Binormality of operators was defined by Campbell in [2], It is easy to see that normal $\Longrightarrow$ quasinormal $\Longrightarrow$ binormal and the inverse implications do not hold. However, every invertible quasinormal operator is normal. Also, in finite dimensional spaces every quasinormal operator is normal. The Aluthge transform is designed as a measure for the normality of an operator, this is justified by the fact that $\Delta_{\lambda}(T)=T$ if and only if $T$ is quasi-normal [11].
Let $T=U|T|$, be the polar decomposition of $T \in \mathcal{B}(\mathcal{H})$. Throughout the remainder of this paper, we denote by $\delta(\mathcal{H})$ the class of operator $T \in \mathcal{B}(\mathcal{H})$ which satisfies $U^{2}|T|=|T| U^{2}$. This class was introduced in [12], in order to study the relationship between a hyponormal operator and its mean transform. Clearly, quasinormal operators belong to $\delta(\mathcal{H})$ but the converse is not true in genaral. In section 2 of this paper, firstly, we provide a condition under which an operator in $\delta(\mathcal{H})$ becomes quasinormal. Secondly, we show that an invertible operator $T$ belongs to the class $\delta(\mathcal{H})$ if and only if $\Delta_{1}\left(T^{-1}\right)=\left(\Delta_{1}(T)\right)^{-1}$. Afterwards, we give examples and discuss how this class of operators is distinct from the class of binormal operators. We prove that, if $T$ is invertible in $\delta(\mathcal{H})$, then $T$ is binormal if and only if $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$, for $\left.\lambda \in\right] 0,1[$. In [9] , Ito, Yamazaki, Yanagida prove that The binormality of an operator in $\mathcal{B}(\mathcal{H})$ does not imply the binormality of its Aluthge transform. However, the binormality of an invertible operator implies the binormality of its Duggal transform [13]. In the last part of this section, we show that if $T$ is binormal in $\delta(\mathcal{H})$ such that the partial isometry factor $U$ of its polar decomposition is unitary, then $\Delta_{\lambda}(T)$ is binormal, for any $\left.\lambda \in\right] 0,1[$.

Now, we recall the notion of the Moore-Penrose inverse that will be used in section 3 of this paper. For $T \in \mathcal{B}(\mathcal{H})$, the Moore-Penrose inverse of $T$ is the unique operator $T^{+} \in \mathcal{B}(\mathcal{H})$ which satisfies:

$$
T T^{+} T=T, \quad T^{+} T T^{+}=T^{+}, \quad\left(T T^{+}\right)^{*}=T T^{+}, \quad\left(T^{+} T\right)^{*}=T^{+} T .
$$

It is well known that the Moore-Penrose inverse of $T$ exists if and only if $\mathcal{R}(T)$ is closed. It is easy to see that $\mathcal{R}\left(T^{+}\right)=\mathcal{R}\left(T^{*}\right), T T^{+}$is the orthogonal projection of $\mathcal{H}$ onto $\mathcal{R}(T)$ and that $T^{+} T$ is the orthogonal projection of $\mathcal{H}$ onto $\mathcal{R}\left(T^{*}\right)$. The operator $T$ is said to be EP operator, if $\mathcal{R}(T)$ is closed and $T T^{+}=T^{+} T$. Clearly

$$
T \mathrm{EP} \Longleftrightarrow \mathcal{R}(T)=\mathcal{R}\left(T^{*}\right) \Longleftrightarrow \mathcal{N}(T)=\mathcal{N}\left(T^{*}\right)
$$

Obviously, every normal operator with closed range is EP but the converse is not true even in a finite dimensional space. For more details about on EP operators see [3, 5].
Most results on the $\lambda$-Aluthge transform show that it generally has better properties than its original operator. However, an operator $T \in \mathcal{B}(\mathcal{H})$ may have a closed range without $\Delta_{\lambda}(T)$ having a closed range as shown in example 3.2. In section 3, firstly, we shall show a necessary and sufficient condition for the range of $\Delta_{\lambda}(T)$ to be closed. Secondly, we investigate when an operator and its $\lambda$-Aluthge transform both are EP. Finally, we give a formula for the Moore-Penrose inverse of $\Delta_{\lambda}(T)$ when $T$ is a binormal operator with closed range and then show under some conditions that $T^{+}$is nilpotent of order $d+1$ if and only if $\left(\Delta_{\lambda}(T)^{+}\right)^{d}=0$.

Now we state some known properties of the polar decomposition, needed in the sequel. If $T=U|T|$ is the polar decomposition of $T \in \mathcal{B}(\mathcal{H})$, then

$$
U U^{*}=P_{\overline{\mathcal{R}}(T)}=P_{\overline{\mathcal{R}}\left(\left|T^{*}\right|\right)} \quad \text { and } \quad U^{*} U=P_{\overline{\mathcal{R}}\left(T^{*}\right)}=P_{\overline{\mathcal{R}}(T T)} .
$$

Moreover, we have
$P(1) T^{*}=U^{*}\left|T^{*}\right|$ is the polar decomposition of $T^{*}$;
$P(2) U|T|^{\alpha}=\left|T^{*}\right|^{\alpha} U$, for any $\alpha \geq 0$. Indeed let $\left(q_{n}\right)$ be a sequence of polynomials such that $q_{n}(t) \rightarrow t^{\frac{1}{\alpha}}$ uniformly on $\sigma(|T|) \cup \sigma\left(\left|T^{*}\right|\right)$ as $n \rightarrow 0$. From $P(1)$, we have $U|T|=\left|T^{*}\right| U$ and so $U q_{n}(|T|)=q_{n}\left(\left|T^{*}\right|\right) U$. Hence $U|T|^{\alpha}=\left|T^{*}\right|^{\alpha} U$. This property is trivial in case $\alpha=0$.
$P(3)$ If $T$ is invertible,
(i) $T^{-1}=U^{*}\left|T^{-1}\right|$ is the polar decomposition of $T^{-1}$;
(ii) $\left|T^{-1}\right|=\left|T^{*}\right|^{-1}$;
(iii) $|T|^{-\alpha}=U^{*}\left|T^{-1}\right|^{\alpha} U$, for $\alpha>0$, (it follows from $P(2)$ and $P(3)$ (ii) ).

## 2. On the class $\delta(\mathcal{H})$, binormal operators and $\lambda$-Aluthge transform

In this section, first we give a condition under which an operator in $\delta(\mathcal{H})$ becomes quasinormal.
Proposition 2.1. Let $n$ be a positive integer and $T \in \delta(\mathcal{H})$, with polar decomposition $T=U|T|$. If $U^{2 n+1}=I$, then $T$ is quasinormal.
Proof. From $U^{2}|T|=|T| U^{2}$, we get $U^{2 n}|T|=|T| U^{2 n}$. This implies $U^{2 n+1}|T| U=U|T| U^{2 n+1}$. If $U^{2 n+1}=I$, then $U|T|=|T| U$. Hence, $T$ is quasinormal.

The following is a characterization of invertible operators in $\delta(\mathcal{H})$ via Duggal transform.
Proposition 2.2. Let $T \in \mathcal{B}(\mathcal{H})$ be invertible. Then

$$
T \in \delta(\mathcal{H}) \Longleftrightarrow \Delta_{1}\left(T^{-1}\right)=\left(\Delta_{1}(T)\right)^{-1} .
$$

Proof. Suppose that $T=U|T|$ is the polar decomposition of $T$. Since $T$ is invertible, it follows that

$$
T \in \delta(\mathcal{H}) \Longleftrightarrow U^{2}|T|=|T| U^{2} \Longleftrightarrow U^{2}|T|^{-1}=|T|^{-1} U^{2} .
$$

By $P(3)$ (iii), $U^{2}|T|^{-1}=U^{2} U^{*}\left|T^{-1}\right| U$. Since $U$ is unitary, then

$$
\begin{aligned}
T \in \delta(\mathcal{H}) & \Longleftrightarrow U^{2} U^{*}\left|T^{-1}\right| U=|T|^{-1} U^{2} \\
& \Longleftrightarrow U\left|T^{-1}\right| U=|T|^{-1} U^{2} \\
& \Longleftrightarrow U\left|T^{-1}\right|=|T|^{-1} U \\
& \Longleftrightarrow\left|T^{-1}\right| U^{*}=U^{*}|T|^{-1} \\
& \Longleftrightarrow \Delta_{1}\left(T^{-1}\right)=\left(\Delta_{1}(T)\right)^{-1} .
\end{aligned}
$$

Example 2.3. Proposition 2.2 is not valid when the Duggal transform is replaced by the Aluthge transform. To see this let $T=\left(\begin{array}{cc}0 & A \\ B & 0\end{array}\right) \in \mathcal{B}(\mathcal{H} \oplus \mathcal{H})$, where $A$ and $B$ are invertible positive operators such that $A B \neq B A$. Then $T$ is invertible and

$$
T=\left(\begin{array}{ll}
0 & I \\
I & 0
\end{array}\right)\left(\begin{array}{ll}
B & 0 \\
0 & A
\end{array}\right)=U|T|
$$

is the polar decomposition of $T$. Since $U^{2}=I$, it follows that $U^{2}|T|=|T| U^{2}$ and so $T \in \delta(\mathcal{H} \oplus \mathcal{H})$. On the other hand, since

$$
\Delta(T)=\left(\begin{array}{cc}
0 & B^{\frac{1}{2}} A^{\frac{1}{2}} \\
A^{\frac{1}{2}} B^{\frac{1}{2}} & 0
\end{array}\right), \text { we obtain }(\Delta(T))^{-1}=\left(\begin{array}{cc}
0 & B^{-\frac{1}{2}} A^{-\frac{1}{2}} \\
A^{-\frac{1}{2}} B^{-\frac{1}{2}} & 0
\end{array}\right) .
$$

Using $P(3)$ (i) and (ii), we have

$$
\Delta\left(T^{-1}\right)=\left|T^{-1}\right|^{\frac{1}{2}} U^{*}\left|T^{-1}\right|^{\frac{1}{2}}=\left|T^{*}\right|^{-\frac{1}{2}} U^{*}\left|T^{*}\right|^{-\frac{1}{2}}=\left(\begin{array}{cc}
0 & A^{-\frac{1}{2}} B^{-\frac{1}{2}} \\
B^{-\frac{1}{2}} A^{-\frac{1}{2}} & 0
\end{array}\right)
$$

Hence $\Delta\left(T^{-1}\right) \neq(\Delta(T))^{-1}$.

It is well known that every quasi-normal operator is binormal. Hence one might expect that there is a relationship between $\delta(\mathcal{H})$ and binormal operators. But in the example 2.3, $T=\left(\begin{array}{cc}0 & A \\ B & 0\end{array}\right) \in \delta(\mathcal{H} \oplus \mathcal{H})$ and $T$ is not binormal because $A B \neq B A$.
Next, we shall show the following result on the binormality of an invertible operator $T$ in $\delta(\mathcal{H})$.
Theorem 2.4. Let $T \in \delta(\mathcal{H})$ be an invertible operator. Then the following statements are equivalent.
(1) $T$ is binormal.
(2) $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$ for all $\left.\lambda \in\right] 0,1[$.
(3) $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$ for some $\left.\lambda \in\right] 0,1[$.

Proof. First, if $T \in \delta(\mathcal{H})$, then by the functional calculus, we obtain $U^{2}|T|^{\lambda}=|T|^{\lambda} U^{2}$ for all $\lambda>0$. This implies $U\left|T^{*}\right|^{\lambda} U=|T|^{\lambda} U^{2}$, by $P(2)$. Multiplying this equality by $U^{*}$ on the right side and since $U$ is unitary, we get

$$
\begin{equation*}
\left.U\left|T^{*}\right|^{\lambda}=|T|^{\lambda} U \quad \text { for all } \lambda \in\right] 0,1[. \tag{1}
\end{equation*}
$$

$(1) \Longrightarrow(2)$. Suppose that $T$ is binormal and invertible. From $P(2)$, we get

$$
\begin{aligned}
\left(\Delta_{\lambda}\left(T^{-1}\right)\right)^{-1} & =\left(\left|T^{*}\right|^{-\lambda} U^{*}\left|T^{*}\right|^{-(1-\lambda)}\right)^{-1} \\
& =\left|T^{*}\right|^{1-\lambda} U\left|T^{*}\right|^{\lambda} \\
& =U|T|^{1-\lambda}\left|T^{*}\right|^{\lambda}
\end{aligned}
$$

Since $T$ is binormal, then $|T|\left|T^{*}\right|=\left|T^{*}\right||T|$. Also by functional calculus, we get $|T|^{1-\lambda}\left|T^{*}\right|^{\lambda}=\left|T^{*}\right|^{\lambda}|T|^{1-\lambda}$ for $\lambda \in] 0,1[$. Then, by using this equality and (1), we deduce that

$$
\begin{aligned}
\left(\Delta_{\lambda}\left(T^{-1}\right)\right)^{-1} & =U\left|T^{*}\right| \lambda|T|^{1-\lambda} \\
& =|T|^{\lambda} U|T|^{1-\lambda} \\
& =\Delta_{\lambda}(T)
\end{aligned}
$$

Hence, $\left(\Delta_{\lambda}(T)\right)^{-1}=\Delta_{\lambda}\left(T^{-1}\right)$, for all $\left.\lambda \in\right] 0,1[$.
(2) $\Longrightarrow$ (3). Trivial.
(3) $\Longrightarrow(1)$. Assume that $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$ for some $\left.\lambda \in\right] 0,1[$. From (1), we obtain

$$
\Delta_{\lambda}(T)=|T|^{\lambda} U|T|^{1-\lambda}=U\left|T^{*}\right|^{\lambda}|T|^{1-\lambda}
$$

On the other hand, by $P(2)$ we have

$$
\left(\Delta_{\lambda}\left(T^{-1}\right)\right)^{-1}=U|T|^{1-\lambda}\left|T^{*}\right|^{\lambda}
$$

Using our assumption, we get that

$$
\left.U\left|T^{*}\right|^{\lambda}|T|^{1-\lambda}=U|T|^{1-\lambda}\left|T^{*}\right|^{\lambda}, \quad \text { for some } \lambda \in\right] 0,1[\text {. }
$$

Since $U$ is unitary, we conclude that

$$
\left.\left|T^{*}\right| \lambda|T|^{1-\lambda}=|T|^{1-\lambda}\left|T^{*}\right|^{\lambda}, \quad \text { for some } \lambda \in\right] 0,1[\text {. }
$$

By the continuous functional calculus, we obtain $\left|T^{*}\right||T|=|T|\left|T^{*}\right|$. So $T$ is binormal.

The following corollary generalizes one implication of [17, Theorem 3.7] to infinite-dimensional Hilbert space.

Corollary 2.5. Let $T \in \mathcal{B}(\mathcal{H})$ be invertible. Then

$$
\left.\Delta(T)=T \Longrightarrow \Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}, \text { for all } \lambda \in\right] 0,1[.
$$

Proof. Let $T=U|T|$ be the polar decomposition of $T$. Since $\Delta(T)=T$, then $T$ is normal. It follows that $U|T|=|T| U$ and so $U^{2}|T|=|T| U^{2}$. Hence, $T \in \delta(\mathcal{H})$. Moreover, since $T$ is normal, $T$ is binormal and by Theorem 2.4, we deduce that $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$, for all $\left.\lambda \in\right] 0,1[$.

Remark 2.6. In Corollary 2.5, the reverse implication is false in infinite-dimensional Hilbert space as shown by the following example.
Example 2.7. Let $T=\left(\begin{array}{ll}0 & I \\ P & 0\end{array}\right) \in \mathcal{B}(\mathcal{H} \oplus \mathcal{H})$, where $P \geq 0$ and $P \neq I$ is invertible. The polar decomposition of $T$ is $T=U|T|$, where

$$
|T|=\left(T^{*} T\right)^{\frac{1}{2}}=\left(\begin{array}{cc}
P & 0 \\
0 & I
\end{array}\right) \quad \text { and } \quad U=T|T|^{-1}=\left(\begin{array}{ll}
0 & I \\
I & 0
\end{array}\right)
$$

For any $\lambda \in] 0,1[$, we have

$$
\begin{aligned}
\Delta_{\lambda}(T) & =|T|^{\lambda} U|T|^{1-\lambda} \\
& =\left(\begin{array}{cc}
P^{\lambda} & 0 \\
0 & I
\end{array}\right)\left(\begin{array}{ll}
0 & I \\
I & 0
\end{array}\right)\left(\begin{array}{cc}
P^{1-\lambda} & 0 \\
0 & I
\end{array}\right) \\
& =\left(\begin{array}{cc}
0 & P^{\lambda} \\
P^{1-\lambda} & 0
\end{array}\right) .
\end{aligned}
$$

It follows that

$$
\left(\Delta_{\lambda}(T)\right)^{-1}=\left(\begin{array}{cc}
0 & P^{-(1-\lambda)} \\
P^{-\lambda} & 0
\end{array}\right)
$$

Also we have

$$
\begin{aligned}
\Delta_{\lambda}\left(T^{-1}\right) & =\left|T^{*}\right|^{-\lambda} U^{*}\left|T^{*}\right|^{-(1-\lambda)} \\
& =\left(\begin{array}{cc}
I & 0 \\
0 & P^{-\lambda}
\end{array}\right)\left(\begin{array}{cc}
0 & I \\
I & 0
\end{array}\right)\left(\begin{array}{cc}
I & 0 \\
0 & P^{-(1-\lambda)}
\end{array}\right) \\
& =\left(\begin{array}{cc}
0 & P^{-(1-\lambda)} \\
P^{-\lambda} & 0
\end{array}\right) .
\end{aligned}
$$

Hence, $\Delta_{\lambda}\left(T^{-1}\right)=\left(\Delta_{\lambda}(T)\right)^{-1}$, while $\Delta_{\lambda}(T) \neq T$.
The following is an example of a binormal operator which is not in $\delta(\mathcal{H})$.
Example 2.8. Consider $T=\left(\begin{array}{llll}0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 1 & 0 & 0 \\ 2 & 0 & 0 & 0\end{array}\right) \in \mathbb{C}^{4}$. Then $T$ is invertible and binormal since

$$
T T^{*} T^{*} T=T^{*} T T T^{*}=\left(\begin{array}{cccc}
4 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 1 & 0 \\
0 & 0 & 0 & 4
\end{array}\right)
$$

By a direct calculation, we have

$$
|T|=\left(\begin{array}{llll}
2 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 1 & 0 \\
0 & 0 & 0 & 1
\end{array}\right),\left|T^{*}\right|=\left(\begin{array}{llll}
1 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 1 & 0 \\
0 & 0 & 0 & 2
\end{array}\right) \text { and } U=\left(\begin{array}{llll}
0 & 0 & 1 & 0 \\
0 & 0 & 0 & 1 \\
0 & 1 & 0 & 0 \\
1 & 0 & 0 & 0
\end{array}\right)
$$

It follows that $U^{2}|T| \neq|T| U^{2}$, then $T \notin \delta(\mathcal{H})$. Moreover, since

$$
\Delta_{\lambda}(T)=\left(\begin{array}{cccc}
0 & 0 & 2^{\lambda} & 0 \\
0 & 0 & 0 & 1 \\
0 & 1 & 0 & 0 \\
2^{1-\lambda} & 0 & 0 & 0
\end{array}\right) \text {, then }\left(\Delta_{\lambda}(T)\right)^{-1}=\left(\begin{array}{cccc}
0 & 0 & 0 & 2^{-(1-\lambda)} \\
0 & 0 & 1 & 0 \\
2^{-\lambda} & 0 & 0 & 0 \\
0 & 1 & 0 & 0
\end{array}\right) .
$$

Also, we have

$$
\Delta_{\lambda}\left(T^{-1}\right)=\left|T^{*}\right|^{-\lambda} U^{*}\left|T^{*}\right|^{-(1-\lambda)}=\left(\begin{array}{cccc}
0 & 0 & 0 & 2^{-(1-\lambda)} \\
0 & 0 & 1 & 0 \\
1 & 0 & 0 & 0 \\
0 & 2^{-\lambda} & 0 & 0
\end{array}\right)
$$

Hence, $\Delta_{\lambda}\left(T^{-1}\right) \neq\left(\Delta_{\lambda}(T)\right)^{-1}$ for any $\left.\lambda \in\right] 0,1[$.
Now, we provide equivalent conditions under which an invertible binormal operator belongs to $\delta(\mathcal{H})$.
Theorem 2.9. Let $T \in \mathcal{B}(\mathcal{H})$ be an invertible binormal operator and $T=U|T|$ be its polar decomposition. Then the following statements are equivalent.

1. $T \in \delta(\mathcal{H})$.
2. $\Delta\left(T^{-1}\right)=(\Delta(T))^{-1}$.
3. $U \Delta(T)=\Delta(T) U$.

Proof. (1) $\Rightarrow(2)$. The proof follows from Theorem 2.4.
$(2) \Rightarrow(3)$. Since $T$ is invertible, $U$ is unitary. Using $P(3)$ (iii), we get

$$
\begin{aligned}
\Delta\left(T^{-1}\right) U \Delta(T) & =\left|T^{-1}\right|^{\frac{1}{2}} U^{*}\left|T^{-1}\right|^{\frac{1}{2}} U|T|^{\frac{1}{2}} U|T|^{\frac{1}{2}} \\
& =\left|T^{-1}\right|^{\frac{1}{2}}|T|^{-\frac{1}{2}}|T|^{\frac{1}{2}} U|T|^{\frac{1}{2}} \\
& =\left|T^{-1}\right|^{\frac{1}{2}} U|T|^{\frac{1}{2}} \\
& =U U^{*}\left|T^{-1}\right|^{\frac{1}{2}} U|T|^{\frac{1}{2}} \\
& =U|T|^{-\frac{1}{2}}|T|^{\frac{1}{2}} \\
& =U .
\end{aligned}
$$

Thus, the condition $\Delta\left(T^{-1}\right)=(\Delta(T))^{-1}$ implies that $U \Delta(T)=\Delta(T) U$.
$(3) \Rightarrow(1)$. Assume that $U \Delta(T)=\Delta(T) U$. Then we have

$$
\begin{aligned}
U|T|^{\frac{1}{2}} U|T|^{\frac{1}{2}}=|T|^{\frac{1}{2}} U|T|^{\frac{1}{2}} U & \Longrightarrow U|T|^{\frac{1}{2}}\left|T^{*}\right|^{\frac{1}{2}} U=|T|^{\frac{1}{2}}\left|T^{*}\right|^{\frac{1}{2}} U^{2} & & \text { by } P(2) \\
& \Longrightarrow\left|T^{*}\right|^{\frac{1}{2}} U\left|T^{*}\right|^{\frac{1}{2}} U=\left|T^{*}\right|^{\frac{1}{2}}|T|^{\frac{1}{2}} U^{2} & & \text { since } T \text { is binormal } \\
& \Longrightarrow U\left|T^{*}\right|^{\frac{1}{2}} U=|T|^{\frac{1}{2}} U^{2} & & \\
& \Longrightarrow U^{2}|T|^{\frac{1}{2}}=|T|^{\frac{1}{2}} U^{2} & & \text { by } P(2) \\
& \Longrightarrow U^{2}|T|=|T| U^{2} . & &
\end{aligned}
$$

Hence, $T \in \delta(\mathcal{H})$.

Finally, we focus on the binormalilty of $\Delta_{\lambda}(T)$ when $T$ is binormal. In [9], Ito, Yamazaki and Yanagida gave an example of a binormal invertible operator $T$ such that its Aluthge transform $\Delta(T)$ is not binormal. However, it was proved in [13] that if $T$ is a binormal invertible operator, then its Duggal transform is binormal.

Theorem 2.10. Let $T \in \delta(\mathcal{H})$ and $T=U|T|$ be its polar decomposition. If $U$ is unitary, then for $\lambda \in] 0,1[$, we have

$$
T \text { is binormal } \Longrightarrow \Delta_{\lambda}(T) \text { is binormal. }
$$

Proof. Since $U$ is unitary, we obtain that

$$
\begin{aligned}
\left|\Delta_{\lambda}(T)^{*}\right|^{2}\left|\Delta_{\lambda}(T)\right|^{2} & =|T|^{\lambda} U|T|^{2(1-\lambda)} U^{*}|T| U^{*}|T|^{2 \lambda} U|T|^{1-\lambda} \\
& =|T|^{\lambda}\left|T^{*}\right|^{2(1-\lambda)}|T| U^{*}|T|^{2 \lambda} U|T|^{1-\lambda} \quad \text { by } P(2) \\
& =|T|^{\lambda}\left|T^{*}\right|^{2(1-\lambda)}|T|\left|T^{*}\right|^{2 \lambda} U^{*} U|T|^{1-\lambda} \quad \text { by (1) } \\
& =|T|^{2}\left|T^{*}\right|^{2} \quad \text { since } T \text { is binormal. }
\end{aligned}
$$

And

$$
\begin{array}{rlr}
\left|\Delta_{\lambda}(T)\right|^{2}\left|\Delta_{\lambda}(T)^{*}\right|^{2} & =|T|^{1-\lambda} U^{*}|T|^{2 \lambda} U|T| U|T|^{2(1-\lambda)} U^{*}|T|^{\lambda} \\
& =|T|^{1-\lambda} U^{*}|T|^{2 \lambda} U|T|\left|T^{*}\right|^{2(1-\lambda)} U U^{*}|T|^{\lambda} \quad \text { by } P(2) \\
& =|T|^{1-\lambda} U^{*}|T|^{2 \lambda} U\left|T \| T^{*}\right|^{2(1-\lambda)}|T|^{\lambda} \\
& =|T|^{1-\lambda} U^{*} U\left|T^{*}\right|^{2 \lambda}|T|\left|T^{*}\right|^{2(1-\lambda)}|T|^{\lambda} \quad \text { by }(1) \\
& =|T|^{2}\left|T^{*}\right|^{2} \quad \text { since } T \text { is binormal. }
\end{array}
$$

Hence, $\Delta_{\lambda}(T)$ is binormal.
Remark 2.11. (i) The reverse implication of the previous Theorem is false. Indeed if we take the example 2.3, we obtain $T \in \delta(\mathcal{H})$ and $\Delta(T)$ is binormal but $T$ is not binormal.
(ii) If $T \in \mathcal{B}(\mathcal{H})$ is a binormal invertible operator such that $\Delta_{\lambda}(T)$ is binormal then $T$ need not be in $\delta(\mathcal{H})$. To see this, consider the example 2.8. Then $T$ is binormal and $\Delta_{\lambda}(T)$ is also binormal as

$$
\left|\Delta_{\lambda}(T)^{*}\right|^{2}\left|\Delta_{\lambda}(T)\right|^{2}=\left(\begin{array}{cccc}
4 & 0 & 0 & 0 \\
0 & 1 & 0 & 0 \\
0 & 0 & 4^{\lambda} & 0 \\
0 & 0 & 0 & 4^{1-\lambda}
\end{array}\right)=\left|\Delta_{\lambda}(T)\right|^{2}\left|\Delta_{\lambda}(T)^{*}\right|^{2}
$$

but $T \notin \delta(\mathcal{H})$.

## 3. The $\lambda$-Aluthge transform of closed range operators

We start this section by giving a new proof to the following lemma from [15].
Lemma 3.1. Let $T \in \mathcal{B}(\mathcal{H})$ be positive and $\alpha>0$. Then $\mathcal{R}(T)$ is closed if and only if $\mathcal{R}\left(T^{\alpha}\right)$ is closed. In this case $\mathcal{R}(T)=\mathcal{R}\left(T^{\alpha}\right)$.
Proof. First, recall that the reduced minimum modulus of an operator $S \in \mathcal{B}(\mathcal{H})$ is defined by

$$
\gamma(S):=\left\{\begin{array}{lc}
\inf \left\{\|S x\| ;\|x\|=1, x \in \mathcal{N}(S)^{\perp}\right\} & \text { if } S \neq 0 \\
+\infty & \text { if } S=0
\end{array}\right.
$$

It is well known that $\gamma(S)>0$ if and only if $S$ has a closed range [8].
$(\Rightarrow)$. Suppose that $\mathcal{R}(T)$ is closed and $\mathcal{R}\left(T^{\alpha}\right)$ is not closed, for some $\alpha>0$. Then $\gamma\left(T^{\alpha}\right)=0$ and so there existe a sequence of unit vectors $x_{n} \in \mathcal{N}\left(T^{\alpha}\right)^{\perp}$ such that $T^{\alpha} x_{n} \longrightarrow 0$. Since $\mathcal{N}\left(T^{\alpha}\right)=\mathcal{N}(T), x_{n} \in \mathcal{N}(T)^{\perp}$, for all $n$. In case $\alpha \in] 0,1$ ], we have

$$
T x_{n}=T^{1-\alpha} T^{\alpha} x_{n} \longrightarrow 0,
$$

Now, in case $\alpha>1$, by Hölder-McCarthy inequality, we have

$$
\left\|T^{\frac{1}{2}} x_{n}\right\|^{2 \alpha}=\left\langle T x_{n}, x_{n}\right\rangle^{\alpha} \leq\left\langle T^{\alpha} x_{n}, x_{n}\right\rangle \leq\left\|T^{\alpha} x_{n}\right\|,
$$

for all $n$. Hence $T^{\frac{1}{2}} x_{n} \longrightarrow 0$, so $T x_{n} \longrightarrow 0$. Therefore, in both cases the sequence $\left(T x_{n}\right)_{n}$ converges to 0 , which is a contradiction with the fact that $\mathcal{R}(T)$ is closed.
$(\Leftarrow)$. Suppose that $\mathcal{R}\left(T^{\alpha}\right)$ is closed, for $\alpha>0$, by the above implication we obtain $R\left(\left(T^{\alpha}\right)^{\frac{1}{\alpha}}\right)=R(T)$ is also closed and then $R(T)=R\left(T^{\alpha}\right)$.

The $\lambda$-Aluthge transform preserves many properties of the original operator. However, an operator $T \in$ $\mathcal{B}(\mathcal{H})$ may have a closed range without $\Delta_{\lambda}(T)$ having a closed range as shown by the following example.

Example 3.2. Let $T=\left(\begin{array}{cc}A & 0 \\ \left(I-A^{*} A\right)^{\frac{1}{2}} & 0\end{array}\right) \in \mathcal{B}(\mathcal{H} \oplus \mathcal{H})$, where $A$ is a contraction and $\mathcal{R}(A)$ is not closed. Then

$$
T^{*} T=\left(\begin{array}{ll}
I & 0 \\
0 & 0
\end{array}\right)
$$

is an orthogonal projection. Hence $T$ is a partial isometry. This implies that $\mathcal{R}(T)$ is closed and $T=T|T|=T T^{*} T$ is the polar decomposition of $T$. Therefore, for $\lambda \in] 0,1]$, we have

$$
\Delta_{\lambda}(T)=\left(T^{*} T\right)^{\lambda} T\left(T^{*} T\right)^{1-\lambda}=\left(\begin{array}{cc}
A & 0 \\
0 & 0
\end{array}\right)
$$

So $\mathcal{R}\left(\Delta_{\lambda}(T)\right)$ is not closed.
The next result provide a necessary and sufficient condition for the range of $\Delta_{\lambda}(T)$ to be closed .
Proposition 3.3. Let $\lambda \in] 0,1]$ and $T \in \mathcal{B}(\mathcal{H})$ with closed range. Let $P$ be an idempotent with range $\mathcal{R}(T)$ and $Q$ be an idempotent with kernel $\mathcal{N}(T)$. Then

$$
\mathcal{R}\left(\Delta_{\lambda}(T)\right) \text { is closed if and only if } \mathcal{R}(Q P) \text { is closed. }
$$

Proof. Assume that $R(T)$ is closed. Since $\mathcal{R}(P)=\mathcal{R}(T)$ and $\mathcal{N}(Q)=\mathcal{N}(T)$, then for $\lambda \in] 0,1]$, we get

$$
\begin{aligned}
\mathcal{R}\left(\Delta_{\lambda}(T)\right) \text { is closed } & \Longleftrightarrow \mathcal{R}\left(|T|^{\lambda} U|T|^{1-\lambda}\right) \text { is closed } \\
& \Longleftrightarrow \mathcal{R}\left(|T|^{\lambda}\left|T^{*}\right|^{1-\lambda} U\right) \text { is closed } \quad \text { by } P(2) \\
& \Longleftrightarrow|T|^{\lambda}\left|T^{*}\right|^{1-\lambda} \mathcal{R}\left(\left|T^{*}\right|\right) \text { is closed } \\
& \Longleftrightarrow|T|^{\lambda}\left|T^{*}\right|^{1-\lambda} \mathcal{R}\left(\left|T^{*}\right|^{\lambda}\right) \text { is closed by lemma } 3.1 \\
& \Longleftrightarrow|T|^{\lambda} \mathcal{R}\left(\left|T^{*}\right|\right) \text { is closed } \\
& \Longleftrightarrow|T|^{\lambda} \mathcal{R}(T) \text { is closed } \\
& \Longleftrightarrow|T|^{\lambda} \mathcal{R}(P) \text { is closed } \\
& \Longleftrightarrow \mathcal{R}\left(P^{*}|T|^{\lambda}\right) \text { is closed } \\
& \Longleftrightarrow P^{*} \mathcal{R}(|T|) \text { is closed } \\
& \Longleftrightarrow P^{*} \mathcal{R}\left(T^{*}\right) \text { is closed } \\
& \Longleftrightarrow \mathcal{R}\left(P^{*} Q^{*}\right) \text { is closed since } \mathcal{R}\left(Q^{*}\right)=\mathcal{N}(Q)^{\perp}=\mathcal{R}\left(T^{*}\right) \\
& \Longleftrightarrow \mathcal{R}(Q P) \text { is closed. }
\end{aligned}
$$

The following result, which is one of the main results of this section, generalizes Theorems 3.3 and 3.15 obtained for complex matrices in [17] to the closed range operators on an arbitrary Hilbert space.

Theorem 3.4. For $T \in \mathcal{B}(\mathcal{H})$ with closed range and $\lambda \in] 0,1]$, we have

$$
T \text { is an EP operator } \Longleftrightarrow \Delta_{\lambda}(T) \text { is } E P \text { and } \mathcal{R}(T)=\mathcal{R}\left(\Delta_{\lambda}(T)\right) .
$$

Proof. $(\Longrightarrow)$. We assume that $T$ is EP. Then $\mathcal{R}(T)$ is closed and $\mathcal{R}(T)=\mathcal{R}\left(T^{*}\right)$. This implies that $P_{\mathcal{R}\left(T^{*}\right)} P_{\mathcal{R}(T)}=$ $P_{\mathcal{R}(T)}$. Then $\mathcal{R}\left(P_{\mathcal{R}\left(T^{*}\right)} P_{\mathcal{R}(T)}\right)$ is closed and by Proposition 3.3, we deduce that $\mathcal{R}\left(\Delta_{\lambda}(T)\right)$ is closed. Now we show that $\mathcal{N}\left(\Delta_{\lambda}(T)\right)=\mathcal{N}\left(\Delta_{\lambda}(T)^{*}\right)$. Since $\mathcal{R}(T)=\mathcal{R}\left(T^{*}\right)$, it follows that

$$
\mathcal{N}(|T|)=\mathcal{N}(T)=\mathcal{N}\left(T^{*}\right)=\mathcal{N}\left(\left|T^{*}\right|\right) .
$$

Since, for $\lambda \in] 0,1], \mathcal{N}(|T|)=\mathcal{N}\left(|T|^{\lambda}\right)$ and $\mathcal{N}\left(\left|T^{*}\right|\right)=\mathcal{N}\left(\left|T^{*}\right|^{\lambda}\right)$, then we get $\mathcal{N}\left(|T|^{\lambda}\right)=\mathcal{N}\left(\left|T^{*}\right|^{\lambda}\right)$. Let $x \in \mathcal{H}$. Hence, for $\lambda \in] 0,1$ ] we have

$$
\begin{aligned}
|T|^{\lambda} U|T|^{1-\lambda} x=0 & \Longleftrightarrow\left|T^{*}\right|^{\lambda} U|T|^{1-\lambda} x=0 \\
& \Longleftrightarrow U|T|^{\lambda}|T|^{1-\lambda} x=0 \quad \text { by } P(2) \\
& \Longleftrightarrow T x=0 \\
& \Longleftrightarrow|T| x=0 \\
& \Longleftrightarrow|T|^{\lambda} x=0 \\
& \Longleftrightarrow|T|^{1-\lambda} U^{*}|T|^{\lambda} x=0 \\
& \Longleftrightarrow \Delta_{\lambda}(T)^{*} x=0 .
\end{aligned}
$$

Therefore, $\mathcal{N}\left(\Delta_{\lambda}(T)\right)=\mathcal{N}\left(\Delta_{\lambda}(T)^{*}\right)=\mathcal{N}(T)$. Consequently, $\Delta_{\lambda}(T)$ is also EP. By taking the orthogonal complements in the relation $\mathcal{N}\left(\Delta_{\lambda}(T)\right)=\mathcal{N}(T)$ and since $T$ and $\Delta_{\lambda}(T)$ are EP, we conclude that $\mathcal{R}\left(\Delta_{\lambda}(T)\right)=\mathcal{R}(T)$.
$(\Longleftarrow)$. We suppose that $\Delta_{\lambda}(T)$ is EP. Since $\mathcal{R}(T)=\mathcal{R}\left(\Delta_{\lambda}(T)\right)$, then $\mathcal{R}\left(\Delta_{\lambda}(T)\right)$ is closed and $\mathcal{R}\left(\Delta_{\lambda}(T)\right)=\mathcal{R}\left(\Delta_{\lambda}(T)^{*}\right)$. Thus,

$$
\mathcal{N}\left(T^{*}\right)=\mathcal{N}\left(\Delta_{\lambda}(T)\right)=\mathcal{N}\left(\Delta_{\lambda}(T)^{*}\right) .
$$

Since $\mathcal{N}(T) \subset \mathcal{N}\left(\Delta_{\lambda}(T)\right)$, then $\mathcal{N}(T) \subset \mathcal{N}\left(T^{*}\right)$. Hence, to prove $T$ is EP, it is enough to prove that $\mathcal{N}\left(\Delta_{\lambda}(T)\right) \subset$ $\mathcal{N}(T)$. Let $x \in \mathcal{N}\left(\Delta_{\lambda}(T)\right)$. This implies that $U|T|^{1-\lambda} x \in \mathcal{N}\left(|T|^{\lambda}\right)=\mathcal{N}(T)$. Hence $\left|T^{*}\right| \lambda U|T|^{1-\lambda} x=0$, because $\mathcal{N}(T) \subset \mathcal{N}\left(T^{*}\right)=\mathcal{N}\left(\left|T^{*}\right|^{\lambda}\right)$. According to $P(2)$, we get $T(x)=0$. Therefore $\mathcal{N}\left(\Delta_{\lambda}(T)\right) \subset \mathcal{N}(T)$. Finally $T$ is EP.

Remark 3.5. Without the condition $\mathcal{R}(T)=\mathcal{R}\left(\Delta_{\lambda}(T)\right)$, the reverse implication does not hold, as the following example shows.

Example 3.6. let $T=\left(\begin{array}{ll}0 & I \\ 0 & 0\end{array}\right) \in \mathcal{B}(\mathcal{H} \oplus \mathcal{H})$. Then $\mathcal{R}(T)$ is closed and $T^{+}=\left(\begin{array}{ll}0 & 0 \\ I & 0\end{array}\right)$. Furthermore, $T^{2}=0$. Hence $\Delta_{\lambda}(T)=0$ is EP, while $T$ is not EP because

$$
T T^{+}=\left(\begin{array}{ll}
I & 0 \\
0 & 0
\end{array}\right) \neq\left(\begin{array}{cc}
0 & 0 \\
0 & I
\end{array}\right)=T^{+} T
$$

Now we prove a version of Theorem 2.4 for closed range operators.
Corollary 3.7. Let $T \in \delta(\mathcal{H})$ with closed range. If $T$ is $E P$, then the following statements are equivalent.
(1) $T$ is binormal.
(2) $\Delta_{\lambda}\left(T^{+}\right)=\left(\Delta_{\lambda}(T)\right)^{+}$for all $\left.\lambda \in\right] 0,1[$.
(3) $\Delta_{\lambda}\left(T^{+}\right)=\left(\Delta_{\lambda}(T)\right)^{+}$for some $\left.\lambda \in\right] 0,1[$.

Proof. Since $T$ is an EP operator, then $\mathcal{H}=\mathcal{R}(T) \oplus \mathcal{N}\left(T^{*}\right)$ and $T$ has the following matrix form

$$
T=\left(\begin{array}{cc}
A & 0 \\
0 & 0
\end{array}\right)
$$

where the operator $A: \mathcal{R}(T) \longrightarrow \mathcal{R}(T)$ is invertible. Now it is known that

$$
U=\left(\begin{array}{ll}
V & 0 \\
0 & 0
\end{array}\right) \text { and }|T|=\left(\begin{array}{cc}
|A| & 0 \\
0 & 0
\end{array}\right)
$$

where $A=V|A|$ is the polar decomposition of $A$. Then for $\lambda \in] 0,1[$

$$
\Delta_{\lambda}(T)=\left(\begin{array}{cc}
\Delta_{\lambda}(A) & 0 \\
0 & 0
\end{array}\right) \text { and }(\Delta(T))^{+}=\left(\begin{array}{cc}
\left(\Delta_{\lambda}(A)\right)^{-1} & 0 \\
0 & 0
\end{array}\right)
$$

also we have

$$
T^{+}=\left(\begin{array}{cc}
A^{-1} & 0 \\
0 & 0
\end{array}\right) \text { and } \Delta\left(T^{+}\right)=\left(\begin{array}{cc}
\Delta_{\lambda}\left(A^{-1}\right) & 0 \\
0 & 0
\end{array}\right)
$$

Therefore,

$$
\left(\Delta_{\lambda}(T)\right)^{+}=\Delta_{\lambda}\left(T^{+}\right) \Longleftrightarrow\left(\Delta_{\lambda}(A)\right)^{-1}=\Delta_{\lambda}\left(A^{-1}\right) .
$$

Hence, the implications $(1) \Longrightarrow(2),(2) \Longrightarrow(3)$, and $(3) \Longrightarrow(1)$ holds by using Theorem 2.4.
The assumption $T$ is an $E P$ operator is necessary in the previous theorem as shown by the following example.
Example 3.8. Consider the right shift operator $S$, defined on the Hilbert space $\ell^{2}(\mathbb{N})$ by $S\left(x_{1}, x_{2}, \ldots\right)=\left(0, x_{1}, x_{2}, \ldots\right)$. Then $S^{*}\left(x_{1}, x_{2}, \ldots\right)=\left(x_{2}, x_{3}, \ldots\right)$ and so $S^{*} S=I$. Hence $S$ is an isometry, which implies that $S^{*}=S^{+}$and $S$ is not EP because $S^{*} S \neq S S^{*}$. Since $|S|=I$, it follows that $S=S|S|$ is the polar decomposition of $S$ and $S \in \delta(\mathcal{H})$. On the other hand a simple calculation shows that

$$
(\Delta(S))^{+}=S^{+}=S^{*} \neq S S^{*} S^{*}=\Delta\left(S^{+}\right)
$$

The next proposition was etablished by Jabbarzadeh and Bakhshkandi in the case $\lambda=\frac{1}{2}$, (see [10, Theorem 2.5]).
Proposition 3.9. Let $T \in \mathcal{B}(\mathcal{H})$ be binormal with closed range and $T=U|T|$ be its polar decomposition. Then $\mathcal{R}\left(\Delta_{\lambda}(T)\right)$ is closed and $\left(\Delta_{\lambda}(T)\right)^{+}=\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}$, for all $\left.\left.\lambda \in\right] 0,1\right]$.

In order to prove proposition 3.9, we need the following two lemmas.
Lemma 3.10. [7, Theorem 2] Let $A, B \geq 0$ and $[A, B]=0$. Then

$$
\left[P_{\mathcal{N}(A)^{\perp}}, P_{\mathcal{N}(B)^{\perp}}\right]=\left[P_{\mathcal{N}(A)^{\perp}}, B\right]=\left[A, P_{\mathcal{N}(B)^{\perp}}\right]=0
$$

where $[T, S]=T S-S T$ for $T$ and $S$ in $\mathcal{B}(\mathcal{H})$.
Lemma 3.11. [6] Let $A \in \mathcal{B}(\mathcal{H})$ and $B \in \mathcal{B}(\mathcal{H})$ be such that $A, B, A B$ have closed ranges. Then the following statements are equivalent:
(i) $(A B)^{+}=B^{+} A^{+}$.
(ii) $\mathcal{R}\left(A^{*} A B\right) \subset \mathcal{R}(B)$ and $\mathcal{R}\left(B B^{*} A^{*}\right) \subset \mathcal{R}\left(A^{*}\right)$.

Proof. (Proposition 3.9) First we show that $\mathcal{R}\left(\Delta_{\lambda}(T)\right)$ is closed for $\left.\left.\lambda \in\right] 0,1\right]$.
Since $\mathcal{R}(T)$ is closed and $T$ is binormal, then $P_{\mathcal{R}(T)} P_{\mathcal{R}\left(T^{*}\right)}=P_{\mathcal{R}\left(T^{*}\right)} P_{\mathcal{R}(T)}$, by Lemma 3.10. Therefore $P_{\mathcal{R}\left(T^{*}\right)} P_{\mathcal{R}(T)}$ is a projection, it follows that $\mathcal{R}\left(P_{\mathcal{R}\left(T^{*}\right)} P_{\mathcal{R}(T)}\right)$ is closed. So by using Proposition 3.3, we have $\mathcal{R}\left(\Delta_{\lambda}(T)\right)$ is closed. For $\lambda \in] 0,1\left[\right.$, we Put $S=\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}$. By [14, Lemma 3.1], $\left(|T|^{+}\right)^{\alpha}=\left(|T|^{\alpha}\right)^{+}$, for all $\alpha>0$, then

$$
\left(|T|^{+}\right)^{\lambda}|T|^{\lambda}=\left(|T|^{\lambda}\right)^{+}|T|^{\lambda}=P_{\mathcal{R}\left(\left.T T\right|^{\lambda}\right)},
$$

and

$$
|T|^{1-\lambda}\left(|T|^{+}\right)^{1-\lambda}=|T|^{1-\lambda}\left(|T|^{1-\lambda}\right)^{+}=P_{\mathcal{R}\left(|T|^{1-\lambda}\right)} .
$$

According to Lemma 3.1, $\mathcal{R}\left(|T|^{\lambda}\right)=\mathcal{R}\left(|T|^{1-\lambda}\right)=\mathcal{R}\left(T^{*}\right)$. So we deduce that

$$
\left(|T|^{+}\right)^{\lambda}|T|^{\lambda}=|T|^{1-\lambda}\left(|T|^{+}\right)^{1-\lambda}=P_{\mathcal{R}\left(T^{*}\right)} .
$$

## Consequently

$$
\begin{aligned}
S \Delta_{\lambda}(T) S & =\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}|T|^{\lambda} U|T|^{1-\lambda}\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda} \\
& =\left(|T|^{+}\right)^{1-\lambda} U^{*} P_{\mathcal{R}\left(T^{*}\right)} U P_{\mathcal{R}\left(T^{*}\right)} U^{*}\left(|T|^{+}\right)^{\lambda} \\
& =\left(|T|^{+}\right)^{1-\lambda} U^{*} P_{\mathcal{R}\left(T^{*}\right)} U U^{*}\left(|T|^{+}\right)^{\lambda} \\
& =\left(|T|^{+}\right)^{1-\lambda} U^{*} U U^{*} P_{\mathcal{R}\left(T^{*}\right)}\left(|T|^{+}\right)^{\lambda} \quad \text { since } T \text { is binormal } \\
& =\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}=S, \\
\Delta_{\lambda}(T) S \Delta_{\lambda}(T) & =|T|^{\lambda} U|T|^{1-\lambda}\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}|T|^{\lambda} U|T|^{1-\lambda} \\
& =|T|^{\lambda} U U^{*} P_{\mathcal{R}\left(T^{*}\right)} U|T|^{1-\lambda} \\
& =|T|^{\lambda} P_{\mathcal{R}\left(T^{*}\right)} U U^{*} U|T|^{1-\lambda} \quad \text { since } T \text { is binormal } \\
& =\left(P_{\left.\mathcal{R}\left(T^{*}\right)|T|^{\lambda}\right)^{*} U U^{*} U|T|^{1-\lambda} \quad}=|T|^{\lambda} U|T|^{1-\lambda}=\Delta_{\lambda}(T),\right.
\end{aligned}
$$

and

$$
\begin{aligned}
S \Delta_{\lambda}(T) & =\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}|T|^{\lambda} U|T|^{1-\lambda} \\
& =\left(|T|^{+}\right)^{1-\lambda} U^{*} P_{\mathcal{R}\left(T^{*}\right)}\left|T^{*}\right|^{1-\lambda} U \\
& =\left(|T|^{+}\right)^{1-\lambda} U^{*}\left|T^{*}\right|^{-\lambda} P_{\mathcal{R}\left(T^{*}\right)} U \quad \text { by Lemma } 3.10 \\
& =\left(|T|^{+}\right)^{1-\lambda}|T|^{1-\lambda} U^{*} P_{\mathcal{R}\left(T^{*}\right)} U \\
& =P_{\mathcal{R}\left(T^{*}\right)} U^{*} P_{\mathcal{R}\left(T^{*}\right)} U \\
& =U^{*} P_{\mathcal{R}\left(T^{*}\right)} U .
\end{aligned}
$$

By similar computation we have $\Delta_{\lambda}(T) S=P_{\mathcal{R}(T)} P_{\mathcal{R}\left(T^{*}\right)}$. Hence $\Delta_{\lambda}(T) S$ and $S \Delta_{\lambda}(T)$ are self-adjoint operators.
From the uniqueness of Moore-Penrose inverse we conclude that $\left(\Delta_{\lambda}(T)\right)^{+}=S$.
Now, we suppose that $\lambda=1$. Since $T$ is binormal, we have

$$
\mathcal{R}(|T \| T| U)=\mathcal{R}\left(\left|T\|T\| T^{*}\right|\right) \subset \mathcal{R}\left(\left|T^{*}\right|\right)=\mathcal{R}(U)
$$

and

$$
\mathcal{R}\left(U U^{*}|T|\right)=\mathcal{R}\left(|T| U U^{*}\right) \subset \mathcal{R}(|T|) .
$$

So, by Lemma 3.11 we obtain $\left(\Delta_{1}(T)\right)^{+}=(|T| U)^{+}=U^{*}|T|^{+}$.
Let $T \in \mathcal{B}(\mathcal{H})$ with closed range and $d \in \mathbb{N}^{*}$. By using [4, Theorem 2.5], we have $\left(T^{+}\right)^{d+1}=0$ if and only if $\left(\Delta_{\lambda}\left(T^{+}\right)\right)^{d}=0$. But, what happens if we replace $\Delta_{\lambda}\left(T^{+}\right)$by $\Delta_{\lambda}(T)^{+}$? The following last theorem gives the answer to this question.
Theorem 3.12. Let $\lambda \in] 0,1]$. Let $T \in \mathcal{B}(\mathcal{H})$ be a binormal operator with closed range and let $d \in \mathbb{N}^{*}$. Then

$$
\left(T^{+}\right)^{d+1}=0 \Longleftrightarrow\left(\Delta_{\lambda}(T)^{+}\right)^{d}=0
$$

Proof. Let $T=U|T|$ be the polar decomposition of T. Let $d \in \mathbb{N}^{*}$. Since $T$ is binormal with closed range, by Proposition 3.9, $\left(\Delta_{\lambda}(T)\right)^{+}=\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}$, for $\left.\left.\lambda \in\right] 0,1\right]$. Thus

$$
\left(\Delta_{\lambda}(T)^{+}\right)^{d}=\left(\left(|T|^{+}\right)^{1-\lambda} U^{*}\left(|T|^{+}\right)^{\lambda}\right)^{d}=\left(|T|^{+}\right)^{1-\lambda}\left(U^{*}|T|^{+}\right)^{d-1} U^{*}\left(|T|^{+}\right)^{\lambda}
$$

This implies

$$
\left(|T|^{+}\right)^{\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda} U^{*}=|T|^{+}\left(U^{*}|T|^{+}\right)^{d-1} U^{*}|T|^{+} U^{*}
$$

Since $T^{+}=|T|^{+} U^{*}$, it follows that

$$
\left(|T|^{+}\right)^{\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda} U^{*}=\left(T^{+}\right)^{d+1}
$$

Clearly, $\left(T^{+}\right)^{d+1}=0$ if $\left(\Delta_{\lambda}(T)^{+}\right)^{d}=0$. Conversely, for $\left.\lambda=\right] 0,1[$ we have

$$
\begin{aligned}
\left(T^{+}\right)^{d+1}=0 & \Longrightarrow\left(|T|^{+}\right)^{\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda} U^{*}=0 \\
& \Longrightarrow\left(|T|^{+}\right)^{\lambda}\left(\lambda(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda} U^{*} U=0 \\
& \Longrightarrow\left(|T|^{+}\right)^{\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(U^{*} U\left(|T|^{+}\right)^{1-\lambda}\right)^{*}=0 \\
& \left.\Longrightarrow\left(|T|^{+}\right)^{\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda}=0 \quad \text { since } \mathcal{R}\left(U^{*} U\right)=\mathcal{R}\left(T^{*}\right)=\mathcal{R}\left(|T|^{+}\right)^{1-\lambda}\right)
\end{aligned}
$$

Then, $\left.\mathcal{R}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda}\right) \subset \mathcal{N}\left(\left(|T|^{+}\right)^{\lambda}\right)$ and since $\mathcal{N}\left(\left(|T|^{+}\right)^{\lambda}\right)=\mathcal{N}\left(\left(|T|^{+}\right)^{1-\lambda}\right)=\mathcal{N}(T)$, it follows that

$$
\left(|T|^{+}\right)^{1-\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda}=0
$$

Therefore, for all $x \in \mathcal{H}$ we have

$$
\left\langle\left(|T|^{+}\right)^{1-\lambda}\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda} x, x\right\rangle=\left\langle\left(\Delta_{\lambda}(T)^{+}\right)^{d}\left(|T|^{+}\right)^{1-\lambda} x,\left(|T|^{+}\right)^{1-\lambda} x\right\rangle=0
$$

So that $\left(\Delta_{\lambda}(T)^{+}\right)^{d}=0$ on $\mathcal{R}\left((|T|)^{1-\lambda}\right)=\mathcal{R}(|T|)$. On the other hand, we have $\mathcal{N}(|T|)=\mathcal{N}\left(\left(|T|^{+}\right)^{\lambda}\right) \subset \mathcal{N}\left(\Delta_{\lambda}(T)^{+}\right)$. Finally, $\left(\Delta_{\lambda}(T)^{+}\right)^{d}=0$ on $\mathcal{H}$.
Now, For $\lambda=1$, we have

$$
\begin{aligned}
\left(T^{+}\right)^{d+1}=0 & \Longrightarrow|T|^{+}\left(\Delta_{1}(T)^{+}\right)^{d} U^{*}=0 \\
& \Longrightarrow|T|^{+}\left(\Delta_{1}(T)^{+}\right)^{d} U^{*} U=0 \\
& \Longrightarrow|T|^{+}\left(\Delta_{1}(T)^{+}\right)^{d} U^{*} U|T|^{+}=0 \\
& \Longrightarrow|T|^{+}\left(\Delta_{1}(T)^{+}\right)^{d}|T|^{+}=0 \quad \text { since } \mathcal{R}\left(U^{*} U\right)=\mathcal{R}\left(T^{*}\right)=\mathcal{R}\left(|T|^{+}\right)
\end{aligned}
$$

Hence, $\left(\Delta_{1}(T)^{+}\right)^{d}=0$, on $\mathcal{R}(|T|)$. Also, we have $\mathcal{N}(|T|) \subset \mathcal{N}\left(\Delta_{1}(T)^{+}\right)$. Therefore $\left(\Delta_{1}(T)^{+}\right)^{d}=0$ on $\mathcal{H}$.
Remark 3.13. The assumption "T is binormal" is necessary in the previous theorem. Indeed, consider $T=\left(\begin{array}{lll}0 & 0 & 0 \\ 1 & 0 & 0 \\ 1 & 1 & 0\end{array}\right)$ acting on $\mathbb{C}^{3}$. Then $T$ is not binormal and $T^{+}=\left(\begin{array}{ccc}0 & 1 & 0 \\ 0 & -1 & 1 \\ 0 & 0 & 0\end{array}\right)$. An easy calculation shows that $T^{3}=0$. This implies $\left(\Delta_{\lambda}(T)\right)^{2}=0$. Then $\left(\Delta_{\lambda}(T)^{+}\right)^{2}=0$ but $\left(T^{+}\right)^{3} \neq 0$.

Acknowledgement.
The authors would like to thank the referee for his/her useful comments and suggestions for this paper.

## References

[1] A. Aluthge, On p-hyponormal operators for $0<p<1$, Integral Equations and Operator Theory 13 (1990), 307-315.
[2] S. L. Campbell, Linear operators for which $T^{*} T$ and $T T^{*}$ commute, Proceedings of the American Mathematical Society 34 (1972), 177-180.
[3] S.L. Campbell, C.D. Meyer, EP operators and generalized inverses, Canad. Math. Bull. 18 (3) (1975), 327 - 333.
[4] F. Chabbabi and M.Mbekhta, Nonlinear maps commuting with the $\lambda$-Aluthge transform under (n, m)-Jordan-Triple product, 2017.
[5] D. S. Djordjevic, Characterizations of normal, hyponormal and EP operators, J. Math. Appl. 329 (2007) 1181-1190.
[6] D.S. Djordjevic, Further results on the reverse order law for generalized inverses, SIAM J. Matrix Anal. Appl. 29 (4) (2007) 1242-1246.
[7] T. Furuta, On the polar decomposition of an operator, Acta Scientiarum Mathematicarum (Szeged) 46 (1983), 261-268.
[8] S.Goldberg, Unbounded Linear Operators, McGraw-Hill, New York, 1966.
[9] M. Ito, T. Yamazaki and M. Yanagida, On the polar decomposition of the product of two operators and its applications. Integr. Equ. Oper.Theory 49 (2004), no. 4, 461-472.
[10] M. R. Jabbarzadeh and M. J. Bakhshkandi, Centered operators via Moore-Penrose inverse and Aluthge transformations, Filomat 31 (2017), no. 20, 6441-6448.
[11] I. B. Jung, E. Ko, C. Pearcy, Aluthge transforms of operators, Integral Equations Operator Theory 37 (2000), 437-448.
[12] S. Lee, W. Lee, and J. Yoon, The mean transform of bounded linear operators, J. Math. Anal. Appl. 410(2014), 70-81.
[13] S. Mathew and M. S. Balasubramani, On the polar decomposition of the Duggal transforma- tion and related results, Oper. Matrices 3(2009), 215-225.
[14] M. Mohammadzadeh Karizaki, Polar Decomposition and Characterization of Binormal Operators, Filomat 34 (2020), no. 3, 1013-1024.
[15] M. Vosough, M. S. Moslehian, and Q. Xu, Closed range and nonclosed range adjointable operators on Hilbert C*-modules, Positivity 22 (2018), no. 3, 701-710.
[16] K. Okubo, On weakly unitarily invariant norm and the Aluthge transformation, Linear Algebra Appl. 371 (2003) 369-375.
[17] D. Pappas, V.N. Katsikis, P.S. Stanimirovi, The $\lambda$-Aluthge transform of EP matrices, Filomat 32 (2018), 4403-4411.


[^0]:    2020 Mathematics Subject Classification. Primary 47A05; Secondary 47B49
    Keywords. Polar decomposition, binormal operators, closed range operators, $\lambda$-Aluthge transform, Moore-Penrose inverse
    Received: 24 January 2021; Accepted: 03 April 2021
    Communicated by Dragan S. Djordjević
    Email addresses: s.zid@univ-batna2.dz (Sohir Zid), s.menkad@univ-batna2.dz (Safa Menkad)

